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Circle 2 numbers that add together to make 0.35

		0.05		0.32		0.3		0.2

Two decimal numbers add together to equal 1
One of these numbers is 0.002
What is the other number?		
									[image: ]

Write in the missing number:

	2 	+	20	+	[image: ]	=	100
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The table shows the cost of a new football kit.

Item Cost
Shirt £8.75
Shorts (1 pair) £5.95
Socks (1 pair) £4.15

Altogether, how much does the complete football kit cost?
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Three whole numbers add up to 50

Seb says,
‘All three numbers must be even numbers.’

Is Seb correct?
Circle Yes or No.

Yes / No

Explain how you know.
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Write the three missing digits to make this addition correct.

1 5
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This table shows the number of people living in various towns in England.

Town Population
Bedford 82,448
Carlton 48,493
Dover 34,087
Formby 24,478
Telford 166,640

What is the total of the numbers of people living in Formby and in Telford?

What is the difference between the numbers of people living in Bedford and in Dover?
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Write in the missing number.

85 + 147 = 102 +
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Write in the missing digits.
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Here are six digit cards.

Use four of the cards to make this addition correct.

40




